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=SS… ®……v™… ®…EÚ {…Æ˙“I……, 2015 
SENIOR SECONDARY EXAMINATION, 2015 

±…‰J……∂……∫j… 
ACCOUNTANCY  

∫…®…™… :  3 
4
1

 
P…h]‰ı 

{…⁄h……»EÚ : 80 

 {…Æ˙“I……Ãl…™……Â E‰Ú  ±…B ∫……®……x™…  x…nÊ˘∂… :  
 GENERAL INSTRUCTIONS TO THE EXAMINEES : 
 1. {…Æ˙“I……l…‘ ∫…¥…«|…l…®… +{…x…‰ |…∂x… {…j… {…Æ˙ x……®……ΔEÚ + x…¥……™…«i…:  ±…J…Â*  
  Candidate must write first his / her Roll No. on the question 

paper compulsorily. 
 2. ∫…¶…“ |…∂x… + x…¥……™…« ΩÈ˛*  
  All the questions are compulsory.  
 3. |…i™…‰EÚ |…∂x… EÚ… =k…Æ˙ n˘“ M…<« =k…Æ˙ {…÷Œ∫i…EÚ… ®…Â Ω˛“  ±…J…Â*  
  Write the answer to each question in the given answer-book 

only. 
 4.  V…x… |…∂x……Â ®…Â +…xi… Æ˙EÚ J…hb˜ ΩÈ˛, =x… ∫…¶…“ E‰Ú =k…Æ˙ BEÚ ∫……l… Ω˛“  ±…J…Â* 
  For questions having more than one part, the answers to those 

parts are to be written together in continuity. 
 5. |…∂x… {…j… E‰Ú  Ω˛xn˘“ ¥… +ΔO…‰V…“ ∞¸{……xi…Æ˙ ®…Â  EÚ∫…“ |…EÚ…Æ˙ EÚ“ j…÷ ]ı / +xi…Æ˙ / 

 ¥…Æ˙…‰v……¶……∫… Ω˛…‰x…‰ {…Æ˙  Ω˛xn˘“ ¶……π…… E‰Ú |…∂x… EÚ…‰ Ω˛“ ∫…Ω˛“ ®……x…Â*  
  If there is any error / difference / contradiction in Hindi & 

English versions of the question paper, the question of Hindi 
version should be treated valid. 

 6. i) ™…Ω˛ |…∂x… {…j… n˘…‰ J…hb˜…Â ®…Â  ¥…¶…HÚ ΩË˛ — + +…ËÆ˙ §…* 
  ii) J…hb˜ "+' ∫…¶…“ UÙ…j……Â E‰Ú  ±…B + x…¥……™…« ΩË˛* 
  iii) J…hb˜ "§…' E‰Ú n˘… ‰ ¶……M… ΩÈ˛, |…i™…‰EÚ ¶……M… ®…Â ∫……i… |…∂x… ΩÈ˛* {…Æ˙“I……l…‘ EÚ…‰  EÚ∫…“ BEÚ 

¶……M… E‰Ú ∫…¶…“ ∫……i… |…∂x……Â EÚ…‰ Ω˛±… EÚÆ˙x…… ΩË˛*   

1 

Previous Pathshala



 2 

SS—30–Accountancy SS-6030 

  i) This question paper contains two Parts — A and B. 
  ii) Part 'A' is compulsory for all candidates. 
  iii) Part 'B' has two portions. Every portion has a set of seven 

questions. Candidate can attempt only a set of seven 
questions of any one portion.  

 7. J…hb˜ |…∂x… ∫…ΔJ™…… +ΔEÚ |…i™…‰EÚ |…∂x… 
  + 1 – 8 1 
   9 – 14 2 
   15 – 21 4  
   22 – 23  6 
    

  §… 24 – 25 1 
   26 – 27 2 
   28 – 29 4  
   30  6 

+l…¥…… 
   24 – 25 1 
   26 – 27 2 
   28 – 29 4 
   30 6 
  Part Question Nos. Marks per question 
   A 1 – 8 1 
   9 – 14 2 
   15 – 21 4  
   22 – 23  6 
    

   B 24 – 25 1 
   26 – 27 2 
   28 – 29 4  
   30  6 

OR 

   24 – 25 1 
   26 – 27 2 
   28 – 29 4 
   30 6 
 8. |…∂x… ∫…ΔJ™…… 22 (J…hb˜-+) i…l…… 30 (J…hb˜-§…) ®…Â +…xi… Æ˙EÚ  ¥…EÚ±{… ΩÈ˛*  
  There are internal choices in Q. No. 22 ( Part-A ) and Q. No. 30  

( Part-B ). 
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J…hb˜ - + 
PART – A  

1. °Ú®…« ®…Â x…™…‰ ∫……Z…‰n˘…Æ˙ u˘…Æ˙… J™…… i… EÚ“ Æ˙EÚ®… x…EÚn˘ ±……x…‰ {…Æ˙ {…÷Æ˙…x…‰ ∫……Z…‰n˘…Æ˙…Â ®…Â  EÚ∫… +x…÷{……i… 
®…Â §……ƒ]ı“ V……i…“ ΩË˛ ? 

 In which ratio amount of goodwill is divided among the old partners 
when new partner brings cash for goodwill ? 1 

2. ""x…™…‰ ∫……Z…‰n˘…Æ˙ E‰Ú |…¥…‰∂… {…Æ˙ ∫……®……x™… ∫…ΔS…™… {…÷Æ˙…x…‰ ∫……Z…‰n˘…Æ˙…Â EÚ…‰ §……ƒ]ı… V……i…… ΩË˛*'' C™……Â ?  

 "General reserve is distributed at the admission of new partner to old 
partners." Why ? 1 

3. + v…±……¶… +…ËÆ˙ +…Ë∫…i… ±……¶… ®…Â BEÚ +xi…Æ˙  ±…J…Â* 

 Write one difference between super profit and average profit. 1 

4. +Δ EÚi…, ®……‰ Ω˛i… +…ËÆ˙ n˘“{…EÚ 2 : 2 : 1 +x…÷{……i… ®…Â ±……¶… §……ƒ]ıi…‰ Ω÷˛B ∫……Z…‰n˘…Æ˙ ΩÈ˛* ®……‰ Ω˛i… 
+¥…EÚ…∂… O…Ω˛h… EÚÆ˙i…… ΩË˛, =∫…EÚ…  Ω˛∫∫…… n˘“{…EÚ ±…‰i…… ΩË˛* x…™…… +x…÷{……i… Y……i… EÚÆÂ˙* 

 Ankit, Mohit and Deepak are partners sharing in the ratio of 2 : 2 : 1. 
Mohit takes retirement and his share is taken by Deepak. Calculate 
the new ratio. 1 

5. BEÚ ∫……Z…‰n˘…Æ˙“ °Ú®…« E‰Ú ∫…®……{…x… EÚ“ n˘∂…… ®…Â "b⁄˜§…i… @Òh… +…™……‰V…x… J……i…‰' E‰Ú ∂…‰π… EÚ…‰ EÚΩ˛…ƒ B¥…Δ 
 EÚ∫… {…I… ®…Â Ω˛∫i……xi… Æ˙i…  EÚ™…… V……i…… ΩË˛ ? 

 On dissolution of a partnership firm, where and in which side is the 
balance of 'the provision for Bad debts Account' transferred ? 1 

6. |……Ãl…i… {…⁄ƒV…“ EÚ… +l…«  ±…J…Â* 
 Write the meaning of subscribed capital. 1 

7. +Δ∂……Â E‰Ú {…÷x…: x…M…«®…x… {…Æ˙ + v…EÚi…®… U⁄Ù]ı  EÚi…x…“ n˘“ V…… ∫…EÚi…“ ΩË˛ ? 
 What is the maximum amount of discount which may be allowed on 

reissue of shares ?   1 

8. @Òh… {…j……Â E‰Ú ∂……‰v…x… {…Æ˙ ±……¶… EÚ…‰  EÚ∫… J……i…‰ ®…Â Ω˛∫i……xi… Æ˙i…  EÚ™…… V……i…… ΩË˛ ? 

 Profit on redemption of debentures is transferred to which Account ?  

   1 
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9. EÚ ¥…i…… +…ËÆ˙ ®…x…“π…… BEÚ °Ú®…« ®…Â ∫……Z…‰n˘…Æ˙ ΩÈ˛* EÚ ¥…i…… °Ú®…« ∫…‰ |…i™…‰EÚ ®……Ω˛ E‰Ú |…l…®…  n˘x…    
500 Ø˚0 B¥…Δ ®…x…“π…… |…i™…‰EÚ ®……Ω˛ E‰Ú +Œxi…®…  n˘x… 600 Ø˚0 +…Ω˛Æ˙h… EÚÆ˙i…“ ΩË˛* §™……V… 10% 

¥……Ãπ…EÚ n˘Æ˙ ∫…‰ ¥…∫…⁄±…  EÚ™…… V……i…… ΩË˛* EÚ ¥…i…… +…ËÆ˙ ®…x…“π…… E‰Ú +…Ω˛Æ˙h… {…Æ˙ BEÚ ¥…π…« EÚ… §™……V… 
EÚ“ M…h…x…… EÚÆÂ˙* 

 Kavita and Manisha are partners in a firm. Kavita withdrew Rs. 500 on 

the first day of every month and Manisha withdrew Rs. 600 on the last 

day of every month. The interest is charged @ of 10% per annum. 

Calculate the interest for one year on the drawings of Kavita and 

Manisha. 2 

10. BEÚ °Ú®…« ®…Â  ¥… x…™……‰ V…i… {…⁄ƒV…“ 5,00,000 Ø˚0 ΩË˛* ±……¶… EÚ“ ∫……®……x™… n˘Æ˙ 8% ΩË˛* °Ú®…« E‰Ú 
+…Ë∫…i… ±……¶… 45,000 Ø˚0 (5,000 Ø˚0 +∫……®……x™… Ω˛… x… E‰Ú {…∂S……i… ) ΩÈ˛* + v…±……¶… E‰Ú {……ƒS… 
M…÷x…‰ E‰Ú §…Æ˙…§…Æ˙ J™…… i… E‰Ú ®…⁄±™… EÚ“ M…h…x…… EÚ“ V…B* 

 Invested capital is Rs. 5,00,000 in a firm. Normal rate of profit is 8%. 

Average profits of the firm are Rs. 45,000 ( after an abnormal loss of 

Rs. 5,000 ). Calculate the value of goodwill at five times of the super 

profit. 2 

11. ±……±……,  ¥…GÚ®… +…ËÆ˙ {……±… ±……¶…-Ω˛… x… EÚ…‰ 2 : 3 : 4 E‰Ú +x…÷{……i… ®…Â §……ƒ]ıi…‰ ΩÈ˛* =x…EÚ“ {…÷∫i…EÚ…Â ®…Â 
36,000 Ø˚0 ∫…‰ J™…… i… J……i……  ¥…t®……x… ΩË˛* {……±… +¥…EÚ…∂… O…Ω˛h… EÚÆ˙i…… ΩË˛* =∫…  n˘x… J™…… i… 
EÚ… ®…⁄±™……ΔEÚx… 63,000 Ø˚0 {…Æ˙  EÚ™…… M…™……* J™…… i… J……i…… {…÷∫i…EÚ…Â ®…Â x…Ω˛” Æ˙J…x…… ΩË˛* J™…… i… 
E‰Ú |… i…{……n˘x… Ω‰˛i…÷ +…¥…∂™…EÚ V…x…«±… |… ¥…Œπ]ı™……ƒ EÚ“ V…B* 

 Lala, Vikram and Pal are sharing profits in the ratio of 2 : 3 : 4. 

Goodwill is appearing in the books of them at a value of Rs. 36,000. 

Pal takes retirement. On that day goodwill is valued at Rs. 63,000. No 

goodwill account is maintained in the books. Pass the necessary 

journal entries for recording the treatment of goodwill. 2 
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12. Æ˙…v……  ±… ®…]‰ıb˜ ®…Â BC∫… x…‰ 1,000 +Δ∂… {…Æ˙ 5 Ø˚0 |… i… +Δ∂… EÚ“ n˘Æ˙ ∫…‰, n‰˘™…  i… l… ∫…‰ BEÚ 
®……Ω˛ {…⁄¥…« Ω˛“ + O…®… Æ˙… ∂… S…÷EÚ… n˘“* ∫……Æ˙h…“ "+' E‰Ú +x…÷∫……Æ˙ EÚ®{…x…“ EÚ“ {…÷∫i…EÚ…Â ®…Â §™……V… EÚ“ 
M…h…x…… EÚÆÂ˙ i…l…… §™……V… E‰Ú x…EÚn˘ ¶…÷M…i……x… EÚ“ |… ¥…Œπ]ı EÚ“ V…B* 

 X paid Rs. 5 per share on 1,000 shares in advance to Radha Ltd. one 
month before from due date. Calculate interest in the books of the 
company according to 'Table A' and pass necessary entry for Interest 
paid in cash. 2 

13.  x… v… ]ı“  ±… ®…]‰ıb˜ x…‰ +{…x…‰ 8,000, 12% @Òh…{…j… 100 Ø˚0 ¥……±…‰ 96 Ø˚0 |… i… @Òh…{…j… EÚ“ 
n˘Æ˙ ∫…‰ Æ˙q˘ EÚÆ˙x…‰ E‰Ú  ±…B GÚ™…  EÚ™…‰* =HÚ ¥™…¥…Ω˛…Æ˙ EÚ“ V…x…«±… |… ¥…Œπ]ı EÚ“ V…B* 

 Nidhi Tea Ltd. purchased for cancellation its 8,000, 12% debentures of 
Rs. 100 each at Rs. 96. Make Journal entries for the above 
transactions. 2 

14.  x…®x… ∫…⁄S…x……+…Â E‰Ú +…v……Æ˙ {…Æ˙ BEÚ ∫……Z…‰n˘…Æ˙ EÚ…‰ ¶…÷M…i……x… EÚ“ V……x…‰ ¥……±…“ Æ˙… ∂… EÚ“       
M…h…x…… EÚ“ V…B B¥…Δ <∫…EÚ“ +…¥…∂™…EÚ V…x…«±… |… ¥…Œπ]ı EÚ“ V…B* {…⁄ƒV…“ J……i…‰ EÚ… x……®… ∂…‰π… 
15,000 Ø˚0, ¥…∫…⁄±…“ J……i…‰ ®…Â ±……¶… EÚ…  Ω˛∫∫…… 35,000 Ø˚0, =∫…x…‰ °Ú®…« EÚ“ ∫…®{… k… J…Æ˙“n˘“ 
11,000 Ø˚0 ®…Â* 

 On the basis of the following information calculate the amount to be 
paid to a partner and pass necessary Journal entries of it. Debit 
balance of capital account is Rs. 15,000, his share of profit on 
realisation is Rs. 35,000, assets of the firm taken over by him for      
Rs. 11,000.  2 

15.  ¥…¥…‰EÚ +…ËÆ˙ ¥…‰n˘μ…i… BEÚ °Ú®…« ®…Â ∫……Z…‰n˘…Æ˙ ΩÈ˛* ¥…‰ <xp˘Æ˙…V… EÚ…‰ 4
1  ¶……M… E‰Ú ±……¶… E‰Ú  ±…B °Ú®…« 

®…Â ∂…… ®…±… EÚÆ˙i…‰ ΩÈ˛  V…∫…‰ x™…⁄x…i…®… 60,000 Ø˚0 ¥……Ãπ…EÚ ±……¶… EÚ“ M……Æ˙x]ı“ n˘“ V……i…“ ΩË˛* =∫…‰ 

M……Æ˙x]ı“ E‰Ú +xi…M…«i…  n˘B M…™…‰ 4
1  ¶……M… ∫…‰ + v…EÚ ±……¶… EÚ“ Æ˙… ∂… EÚ…‰ n˘…‰x……Â {…÷Æ˙…x…‰ ∫……Z…‰n˘…Æ˙ 

GÚ®…∂…: 3 : 2 E‰Ú +x…÷{……i… ®…Â ¥…Ω˛x… EÚÆÂ˙M…‰* 31 ®……S…«, 2014 EÚ…‰ ∫…®……{i… Ω˛…‰x…‰ ¥……±…‰ +r«˘ ¥…π…« 
®…Â °Ú®…« EÚ…‰ 1,00,000 Ø˚0 EÚ… ±……¶… Ω˛…‰i…… ΩË˛*  

 ±……¶…-Ω˛… x…  x…™……‰V…x… J……i…… §…x……<B i…l…… ±……¶…  ¥…i…Æ˙h… EÚ“ V…x…«±… |… ¥…Œπ]ı EÚ“ V…B* 
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 Vivek and Vedavrata are partners in a firm. They admit Indra Raj for 

4
1 th share of profit in the firm, who is given a guarantee for minimum 

profit of Rs. 60,000 yearly. The excess amount of profit given to him 

above 4
1 th of the share under guarantee will be borne by old partners 

in the ratio of  3 : 2 respectively. In the half year ending on 31st 

March, 2014 the firm's profit amounted to Rs. 1,00,000.  

 Prepare Profit & Loss Appropriation Account and pass journal entry for 

the distribution of profits. 4 

16. +…Ω˛Æ˙h… B¥…Δ ∂…÷r˘ ±……¶……Â E‰Ú  ±…B +…¥…∂™…EÚ ∫…®……™……‰V…x… EÚÆ˙x…‰ E‰Ú {…∂S……i… +, §… +…ËÆ˙ ∫… EÚ“ 

{…⁄ƒV…“ ¥…π…« E‰Ú +xi… ®…Â GÚ®…∂…: 25,000 Ø˚0, 20,000 Ø˚0 B¥…Δ 15,000  Ø˚0 l…“* §……n˘ ®…Â 

{…i…… ±…M……  EÚ {…⁄ƒV…“ {…Æ˙ 10% ¥……Ãπ…EÚ §™……V… +…ËÆ˙ +…Ω˛Æ˙h… {…Æ˙ §™……V… GÚ®…∂…: 150 Ø˚0,    

100 Ø˚0 B¥…Δ 50 Ø˚0 ±…M……x…… ¶…⁄±… M…™…‰* ¥…π…« EÚ… ±……¶… 10,000 Ø˚0 l……* =x…E‰Ú +…Ω˛Æ˙h… 

GÚ®…∂…: 1,500 Ø˚0, 1,000 Ø˚0 B¥…Δ 500 Ø˚0 l…‰* ∫……Z…‰n˘…Æ˙ ±……¶…-Ω˛… x… EÚ…‰ 2 : 1 : 1 E‰Ú 

+x…÷{……i… ®…Â §……ƒ]ıi…‰ ΩÈ˛*  

 J……i……Â EÚ…‰ ∫…÷v……Æ˙ E‰Ú  ±…B ¥…π…« E‰Ú +xi… ®…Â +…¥…∂™…EÚ |… ¥…Œπ]ı™……ƒ EÚ“ V…B* 

 The capitals of A, B and C stood at Rs. 25,000, Rs. 20,000 and         

Rs. 15,000 respectively after the necessary adjustments at the end of 

the year in respect of drawings and net profits.  Subsequently it was 

found that interest on capital at 10% per annum and interest on 

drawings Rs. 150, Rs. 100 and Rs. 50 respectively have been forgotten. 

The profit of the year was Rs. 10,000. Their drawings were Rs. 1,500, 

Rs. 1,000 and Rs. 500 respectively. Partners share profits and losses 

in the ratio of  2 : 1 : 1.  

 Pass necessary entries at the end of the year to rectify the accounts. 4 

6 
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17. BC∫…, ¥……<« +…ËÆ˙ V…‰b˜ ∫……Z…‰n˘…Æ˙“ ®…Â 2 : 3 : 1 +x…÷{……i… ®…Â ±……¶…-Ω˛… x… §……ƒ]ıi…‰ ΩÈ˛* ¥…π…« E‰Ú |……Æ˙®¶… 
®…Â BC∫… +¥…EÚ…∂… O…Ω˛h… EÚÆ˙i…… ΩË˛ +…ËÆ˙ +{…x…‰  Ω˛∫∫…‰ EÚ…‰ ¥……<« +…ËÆ˙ V…‰b˜ EÚ…‰ 1,60,000 Ø˚0 
®…Â §…‰S… n‰˘i…… ΩË˛,  V…∫…®…Â ∫…‰ 60,000 Ø˚0 ¥……<« n‰˘i…… ΩË˛ +…ËÆ˙ 1,00,000 Ø˚0 V…‰b˜ n‰˘i…… ΩË˛* BC∫… 
E‰Ú +¥…EÚ…∂… O…Ω˛h… E‰Ú §……n˘ °Ú®…« EÚ… =HÚ ¥…π…« EÚ… ±……¶… 2,40,000 Ø˚0 l……*  

 x…™…‰ ±……¶…-Ω˛… x… §…Δ]ıx… +x…÷{……i… EÚ“ M…h…x…… EÚÆÂ˙ B¥…Δ  Ω˛∫∫…… §…‰S…x…‰ i…l…… ±……¶… §……ƒ]ıx…‰ EÚ“ |… ¥…Œπ]ı™……ƒ 
EÚ“ V…B* 

 X, Y and Z are partners sharing profits and losses in the ratio            of 

2 : 3 : 1. At the beginning of the year X retires after selling his share to 

Y and Z for Rs. 1,60,000, out of which Rs. 60,000 being paid by Y and 

Rs. 1,00,000 by Z. The profit of the firm for the year after X's 

retirement is Rs. 2,40,000.  

 Calculate new Profit & Loss sharing ratio and pass entries for sales of 

share and distribution of profit. 4  

18. ∫……Z…‰n˘…Æ˙“ E‰Ú ∫…®……{…x… +…ËÆ˙ °Ú®…« E‰Ú ∫…®……{…x… ®…Â EÚ…‰<« S……Æ˙ı +xi…Æ˙  ±… J…B* 

  Write any four distinctions between dissolution of partnership and 

dissolution of firm. 4 

19. |… i…¶…⁄ i… |…§™…… V… E‰Ú EÚ…‰<« S……Æ˙ ={…™……‰M…  ±… J…B* 

 Write any four uses of securities premium. 4 

20. ®…‰P……  ±…0 x…‰ 5 Ø˚0 |…“ ®…™…®… {…Æ˙ 10 Ø˚0 ¥……±…‰ 40,000  ∫…®…i…… +Δ∂……Â E‰Ú  ±…B +…¥…‰n˘x… ®……ƒM…‰ 
l…‰* 6 Ø˚0 |… i… +Δ∂… E‰Ú +…v……Æ˙ {…Æ˙ |……{i… E÷Ú±… +…¥…‰n˘x… Æ˙… ∂… 3,00,000 Ø˚0 |……{i… Ω÷˛<«* 
+ ¶…n˘…x… E‰Ú |…EÚ…Æ˙ E‰Ú x……®… EÚ… =±±…‰J… EÚ“ V…B B¥…Δ +…¥…‰n˘x… {…Æ˙ EÚ“ V……x…‰ ¥……±…“ |… ¥…Œπ]ı™……ƒ 
EÚ“ V…B V…§… EÚ + i… Æ˙HÚ Æ˙… ∂… EÚ…‰ ±……Ë]ı…  n˘™…… V……i…… ΩË˛* 

 Megha Ltd. had invited applications for 40,000 equity shares of           

Rs. 10 each at a premium of Rs. 5 each. The total application money 

received at Rs. 6 per share was Rs. 3,00,000. Specify the kind of 

subscription and pass entries for application, while extra amount is to 

be refunded. 4 
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21. BC∫…  ±… ®…]‰ıb˜ x…‰ 100 Ø˚0 ¥……±…‰ 2,000, 12% @Òh…{…j……Â EÚ…‰ 10% |…§™…… V… {…Æ˙  x…M…« ®…i… 

 EÚ™……, ±…‰ EÚx… ∂……‰v…x… 5% |…“ ®…™…®… {…Æ˙  EÚ™…… V……x…… ΩË˛* EÚ®{…x…“ EÚ“ {…÷∫i…EÚ…Â ®…Â +…¥…∂™…EÚ 

V…x…«±… |… ¥…Œπ]ı™……ƒ n˘“ V…B, ™… n˘ @Òh…{…j……Â {…Æ˙  x…M…«®…x… EÚ“ Ω˛… x… EÚ…‰ +{… ±… J…i… EÚÆ˙x…… ΩË˛* 

 2,000, 12% debentures of Rs. 100 each were issued at 10% premium 

by X Ltd. but redeemable at 5% premium. Pass necessary journal 

entries in the books of company if loss on issue of debentures is to be 

written off.  4 

22. + +…ËÆ˙ §… BEÚ ¥™…¥…∫……™… E‰Ú ±……¶……Â EÚ…‰ 5 : 3 ®…Â §……ƒ]ıi…‰ ΩÈ˛* ¥…‰ ∫… EÚ…‰ ±……¶… ®…Â 4
1   Ω˛∫∫…‰ E‰Ú 

 ±…B ∂…… ®…±… EÚÆ˙i…‰ ΩÈ˛, V……‰  EÚ + i…l…… §… u˘…Æ˙… §…Æ˙…§…Æ˙  n˘™…… V……™…‰M……* ∫… E‰Ú |…¥…‰∂… E‰Ú ∫…®…™… 

°Ú®…« EÚ…  S…_ˆ…  x…®x… |…EÚ…Æ˙ l…… : 

 Ø˚0  Ø˚0 

+ EÚ“ {…⁄ƒV…“ 

§… EÚ“ {…⁄ƒV…“ 

∫……®……x™… ∫…ΔS…™… 

±…‰x…n˘…Æ˙ 

50,000 
30,000 
16,000 
4,000 

1,00,000 

®…∂…“x…Æ˙“ 

°Úx…‘S…Æ˙ 

∫]ı…ÏEÚ 

§…ÈEÚ 

35,000 
15,000 
10,000 
40,000 

1,00,000 

 ∫… E‰Ú |…¥…‰∂… EÚ“ ∂…i…Á  x…®x… l…” : 

 i) ∫… +{…x…‰  Ω˛∫∫…‰ EÚ“ {…⁄ƒV…“ i…l…… J™…… i… E‰Ú  ±…B 30,000 Ø˚0 ±……BM……*  

 ii) °Ú®…« EÚ“ J™…… i… EÚ… ®…⁄±™……ΔEÚx… + v…±……¶… 8,000 Ø˚0 E‰Ú i…“x… ¥…π……Á E‰Ú GÚ™… E‰Ú §…Æ˙…§…Æ˙ 

 EÚ™…… M…™…… ΩË˛*  

 iii) ®…∂…“x…, °Úx…‘S…Æ˙ B¥…Δ ∫]ı…ÏEÚ EÚ… {…÷x…®…⁄«±™……ΔEÚx… GÚ®…∂…: 30,000 Ø˚0, 12,000 Ø˚0 B¥…Δ 

8,000 Ø˚0 {…Æ˙  EÚ™…… M…™…… ΩË˛* 

 ={…Æ˙…‰HÚ ∫…⁄S…x……+…Â ∫…‰ +…¥…∂™…EÚ V…x…«±… |… ¥…Œπ]ı™……ƒ EÚ“ V…B* 
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SS—30–Accountancy SS-6030 [ Turn over 

 A and B share the profits of a business in the ratio of 5 : 3. They 

admitted C into the firm for 4
1 th share in profits which is to be 

contributed equally by A and B. On the date of admission of C the 

Balance Sheet of the firm was as follows : 

 Rs.  Rs. 

A's Capital 
B's Capital 
General Reserve 
Creditors 

50,000 
30,000 
16,000 
4,000 

1,00,000 

Machinery 
Furniture 
Stock 
Bank 

35,000 
15,000 
10,000 
40,000 

1,00,000 

 Terms of C's admission were as follows : 

 i) C will bring Rs. 30,000 for his share of capital and goodwill.  

 ii) Goodwill of the firm has been valued at 3 years' purchase of the 

super profit Rs. 8,000. 

 iii) Machinery, furniture and stock are revalued at Rs. 30,000,            

Rs. 12,000 and Rs. 8,000 respectively. 

 Pass necessary journal entries from the above information. 6 

+l…¥……  / OR 

 + +…ËÆ˙ §… ±……¶……Â EÚ…‰ 2 : 3 E‰Ú +x…÷{……i… ®…Â §……ƒ]ıi…‰ ΩÈ˛* 31 ®……S…«, 2014 EÚ…‰ =x…EÚ…  S…_ˆ…  x…®x… 
|…EÚ…Æ˙ l…… : 

 S…_ˆ… 
  Ø˚0  Ø˚0 

±…‰x…n˘…Æ˙ 
{…⁄ƒV…“ 
+      60,000 
§…       90,000 
+ EÚ“ {…ix…“ EÚ… @Òh… 
  

18,000 
 
 
 

1,50,000 

32,000 

 
2,00,000 

Æ˙…‰EÚc˜ 
n‰˘x…n˘…Æ˙            40,000 
– +…™……‰V…x…         2,000 
∫]ı…ÏEÚ 
®…∂…“x…Æ˙“ 
¶…⁄ ®… B¥…Δ ¶…¥…x… 
 

5,000 
 
 

38,000 
52,000 
40,000 
65,000 

2,00,000 
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SS—30–Accountancy SS-6030 

 +O… ±… J…i…  i… l… EÚ…‰ ∫……Z…‰n˘…Æ˙…Â x…‰ °Ú®…« EÚ…‰ ¶…ΔM… EÚÆ˙x…‰ EÚ…  x…h…«™…  EÚ™……* ∫…®{… k…™……Â ∫…‰  x…®x… 

Æ˙… ∂…™……ƒ ¥…∫…⁄±… Ω÷˛<» : 

 ∫]ı…ÏEÚ ∫…‰ 45,000 Ø˚0, ®…∂…“x…Æ˙“ ∫…‰ {…÷∫i…EÚ ®…⁄±™… EÚ… 20% EÚ®…, n‰˘x…n˘…Æ˙…Â ∫…‰ 35,000 Ø˚0, 

¶…⁄ ®… i…l…… ¶…¥…x… ∫…‰ {…÷∫i…EÚ ®…⁄±™… ∫…‰ 35,000 Ø˚0 + v…EÚ* ±…‰x…n˘…Æ˙…Â x…‰ 17,000 Ø˚0 ±…‰x…… 

∫¥…“EÚ…Æ˙  EÚ™……* + x…‰ {…ix…“ EÚ… @Òh… 33,000 Ø˚0 ®…Â S…÷EÚ…x…‰ EÚ… n˘… ™…i¥…  ±…™……* ¥…∫…⁄±…“ ¥™…™… 

1,500 Ø˚0 Ω÷˛B* 

 ¥…∫…⁄±…“ J……i……, ∫……Z…‰n˘…Æ˙…Â E‰Ú {…⁄ƒV…“ J……i…‰ i…l…… Æ˙…‰EÚc˜ J……i…… i…Ë™……Æ˙ EÚÆÂ˙* 

 A and B are sharing profits in the ratio of 2 : 3. Their Balance Sheet as 

on 31st March, 2014 was as follows : 

Balance Sheet  
 Rs.  Rs. 

Creditors 

Capitals 

     A         60,000 

     B         90,000 

A's wife's loan  

18,000 

 

 

1,50,000 

32,000 

 

2,00,000 

Cash 

Debtors            40,000 

– Provision         2,000 

Stock 

Machinery 

Land & Building 

5,000 

 

38,000 

52,000 

40,000 

65,000 

2,00,000 

 Partners decide to dissolve the firm on the above date. Assets were 

realised as follows : 

 Stock Rs. 45,000, Machinery 20% less than book value, Debtors        

Rs. 35,000, Land & Building Rs. 35,000 more than book value. 

Creditors agreed to accept Rs. 17,000. A took the liability to pay              

Rs. 33,000 for his wife's loan. Realisation expenses amounted to       

Rs. 1,500. 

 Prepare Realisation Account, partners' Capital Accounts and Cash 

Account. 6 
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SS—30–Accountancy SS-6030 [ Turn over 

23. ®…÷E‰Ú∂…  ±… ®…]‰ıb˜ x…‰ 100 Ø˚0 ¥……±…‰ 1,000 ∫…®…i…… +Δ∂… 5% §…^‰ı {…Æ˙  x…M…« ®…i…  EÚB* ¶…÷M…i……x… 

<∫… |…EÚ…Æ˙ Ω˛…‰x…… l…… : 

 +…¥…‰n˘x… {…Æ˙ 30 Ø˚0, +…¥…Δ]ıx… {…Æ˙ 35 Ø˚0 B¥…Δ ™……S…x…… {…Æ˙ 30 Ø˚0* 980 +Δ∂……Â E‰Ú  ±…B 

+…¥…‰n˘x… |……{i… Ω÷˛B* ∫…¶…“ +…¥…‰n˘EÚ…Â EÚ…‰ +…§…Δ]ıx… EÚÆ˙  n˘™…… M…™……* BEÚ +Δ∂…v……Æ˙“  V…∫…E‰Ú {……∫… 

30 +Δ∂… l…‰ x…‰ +…§…Δ]ıx… EÚ… ¶…÷M…i……x… x…Ω˛”  EÚ™……* =∫…E‰Ú +Δ∂……Â EÚ…‰ V…§i… EÚÆ˙  ±…™…… M…™……* BEÚ 

+x™… +Δ∂…v……Æ˙“  V…∫…E‰Ú {……∫…˙ 20 +Δ∂… l…‰ x…‰ ™……S…x…… EÚ… ¶…÷M…i……x… x…Ω˛”  EÚ™……* =∫…E‰Ú +Δ∂……Â EÚ…‰ 

¶…“ V…§i… EÚÆ˙  ±…™……* §……n˘ ®…Â V…§i…  EÚB ∫……Æ‰˙ +Δ∂… 90 Ø˚0 |… i… +Δ∂… EÚ“ n˘Æ˙ ∫…‰ {…⁄h…«n˘k… ∞¸{… 

®…Â {…÷x…: x…M…« ®…i… EÚÆ˙  n˘™…… M…™……*  

 EÚ®{…x…“ EÚ“ Æ˙…‰EÚc˜ §…Ω˛“ §…x……<B B¥…Δ V…x…«±… ®…Â ±…‰J…‰ EÚ“ V…B* 

 Mukesh Ltd. issued 1,000 equity shares of Rs. 100 each at               

5% discount payable as follows : 

 Rs. 30 on application, Rs. 35 on allotment and Rs. 30 on call. 

Applications were received for 980 shares and full allotment was made. 

One shareholder holding 30 shares failed to pay allotment money and 

his shares were forfeited. Another shareholder holding    20 shares 

failed to pay call money and his shares were also forfeited. Later on all 

the forfeited shares were reissued @ Rs. 90 per share as fully paid up. 

 Prepare company's Cash Book and make journal entries. 6   
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SS—30–Accountancy SS-6030 

J…hb˜ - §… 

PART – B 

 J…hb˜ "§…' E‰Ú n˘…‰ ¶……M… ΩÈ˛, |…i™…‰EÚ ¶……M… ®…Â ∫……i… |…∂x… ΩÈ˛* {…Æ˙“I……l…‘ EÚ…‰  EÚ∫…“ BEÚ ¶……M… 

E‰Ú ∫…¶…“ ∫……i… |…∂x……Â EÚ…‰ Ω˛±… EÚÆ˙x…… ΩË˛* 

 Part 'B' has two portions. Every portion has a set of seven questions. 

Candidate can attempt only one set of seven questions of any one 

portion. 

24. "Æ˙…‰EÚc˜ |…¥……Ω˛  ¥…¥…Æ˙h…' ∫…‰ +…{… C™…… ∫…®…Z…i…‰ ΩÈ˛ ? 

 What do you mean by 'Cash flow statement' ? 1 

25. Æ˙…‰EÚc˜ |…¥……Ω˛  ¥…¥…Æ˙h… EÚ“ EÚ…‰<« BEÚ ∫…“®……  ±… J…B* 

 Write any one limitation of cash flow statement. 1 

26.  x…®x… ∫…⁄S…x……+…Â ∫…‰ "EÚÆ˙ +…™……‰V…x… J……i……' §…x……EÚÆ˙ EÚÆ˙ ¶…÷M…i……x… EÚ“ Æ˙… ∂… Y……i… EÚÆÂ˙ : 

 EÚÆ˙ +…™……‰V…x… EÚ… |……ÆΔ˙ ¶…EÚ ∂…‰π… 60,000 Ø˚0 i…l…… +Œxi…®… ∂…‰π… 20,000 Ø˚0* ¥…π…« E‰Ú n˘…ËÆ˙…x… 

80,000 Ø˚0 EÚ… EÚÆ˙ E‰Ú  ±…™…‰ |……¥…v……x…  EÚ™……* 

 Calculate the amount of Tax paid by preparing Provision for Tax 

Account from the following information : 

 Opening balance of provision for tax Rs. 60,000 and closing balance 

Rs. 20,000. During the year provision made for tax Rs. 80,000. 2 

27. ∫…®……x……EÚ…Æ˙  S…_‰ˆ ∫…‰ +…{… C™…… ∫…®…Z…i…‰ ΩÈ˛ ? 

 What do you mean by common size Balance Sheet ? 2 

28.  x…®x… ∫…⁄S…x……+…Â ∫…‰ (i) ∫…EÚ±… ±……¶… +x…÷{……i…, (ii)  {… Æ˙S……±…x… +x…÷{……i…, (iii)  {… Æ˙S……±…x… ±……¶… 

+x…÷{……i…, (iv)  ∂…÷r˘ ±……¶… +x…÷{……i… Y……i… EÚ“ V…B : 

  ¥…GÚ™… 2,00,000 Ø˚0, §…‰S…‰ M…™…‰ ®……±… EÚ“ ±……M…i… 1,20,000 Ø˚0, |…∂……∫… x…EÚ ¥™…™… 

20,000 Ø˚0,  §…GÚ“ ¥™…™… 15,000 Ø˚0, +ŒMx… ∫…‰ Ω˛… x… 10,000 Ø˚0,  ¥… x…™……‰M… ∫…‰ +…™… 

5,000 Ø˚0* 
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SS—30–Accountancy SS-6030 [ Turn over 

 Calculate (i)  Gross profit ratio, (ii) Operating ratio, (iii)  Operating 
profit ratio, (iv) Net profit ratio from the following information : 

 Sales Rs. 2,00,000, Cost of Goods sold Rs. 1,20,000, Administration 
expenses Rs. 20,000, Selling expenses Rs. 15,000, Loss by fire             
Rs. 10,000, Income from investment Rs. 5,000. 4 

29.  x…®x… ±… J…i…  ¥…¥…Æ˙h……Â ∫…‰ {… Æ˙S……±…x…  GÚ™……+…Â ∫…‰ Æ˙…‰EÚc˜ |…¥……Ω˛ Y……i… EÚ“ V…B :  

  ¥…π…« 2014 
(Ø˚0) 

¥…π…« 2013 
(Ø˚0) 

±……¶…-Ω˛… x… J……i…… 
|……{™… J……i…‰ 
+n˘k…  EÚÆ˙…™…… 
J™…… i… 
{…⁄¥…«n˘k… §…“®…… 
n‰˘™…i…… J……i…‰ 

1,10,000 
50,000 
24,000 
80,000 
8,000 

26,000 

1,20,000 
62,000 
42,000 
76,000 
4,000 

38,000 
 Compute cash flow from operating activities from the following     

details :  4 

  Year 2014 
( Rs. ) 

Year 2013 
( Rs. ) 

Profit and Loss Account 
Accounts receivable 
Outstanding Rent 
Goodwill 
Prepaid Insurance 
Accounts payable 

1,10,000 
50,000 
24,000 
80,000 
8,000 

26,000 

1,20,000 
62,000 
42,000 
76,000 
4,000 

38,000 
      

30.  x…®x… ∫…⁄S…x……+…Â ∫…‰ ∫…®……x……EÚ…Æ˙ +…™…  ¥…¥…Æ˙h… §…x……<B : 

 ¥…π…« 2013 
(Ø˚0) 

¥…π…« 2014 
(Ø˚0) 

 ¥…GÚ™… 
§…‰S…‰ M…™…‰ ®……±… EÚ“ 
±……M…i… 
+|…i™…I… ¥™…™… 
+…™…EÚÆ˙ 

5,00,000 
 ¥…GÚ™… EÚ… 60%  

∫…EÚ±… ±……¶… EÚ… 40%  
EÚÆ˙ ∫…‰ {…⁄¥…« ∂…÷r˘ ±……¶… EÚ… 30%  

6,00,000 
 ¥…GÚ™… EÚ… 70% 

∫…EÚ±… ±……¶… EÚ… 30%  
EÚÆ˙ ∫…‰ {…⁄¥…« ∂…÷r˘ ±……¶… EÚ… 30% 
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SS—30–Accountancy SS-6030 

 Prepare common size Income statement from the following  
information : 6 

 Year 2013 
( Rs. ) 

Year 2014 
( Rs. ) 

Sales 

Cost of Goods sold 

Indirect Expenses 

Income Tax  

5,00,000 

60% of Sales 

40% of Gross Profit 

30% of Net Profit  
before Tax 

6,00,000 

70% of Sales 

30% of Gross Profit 

30% of Net Profit  
before Tax 

+l…¥…… / OR 

 x…“S…‰ n˘“ M…<« ∫…⁄S…x……+…Â ∫…‰ i…÷±…x……i®…EÚ +…™…  ¥…¥…Æ˙h… i…Ë™……Æ˙ EÚ“ V…B : 

 31 ®……S…«, 2013 
(Ø˚0) 

31 ®……S…«, 2014 
(Ø˚0) 

 ¥…GÚ™… 

GÚ™… 

§…‰S…‰ M…™…‰ ®……±… EÚ“ ±……M…i… 

|…∂……∫… x…EÚ ¥™…™… 

+…™… EÚÆ˙ 

2,00,000 

1,00,000 

1,20,000 

∫…EÚ±… ±……¶… EÚ… 10%  

30%  

3,00,000 

2,00,000 

2,10,000 

∫…EÚ±… ±……¶… EÚ… 5%  

30%  

 From the information given below prepare comparative Income 
statement : 6 

 31st March, 2013 
( Rs. ) 

31st March, 2014 
( Rs. ) 

Sales 

Purchases 

Cost of Goods Sold 

Administrative Expenses  

Income Tax 

2,00,000 

1,00,000 

1,20,000 

10% of Gross Profit 

30% 

3,00,000 

2,00,000 

2,10,000 

5% of Gross Profit 

30% 

+l…¥…… / OR 
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J…hb˜ - §… 

PART – B 

24. ∫……Ï}]ı¥…‰™…Æ˙ C™…… ΩË˛ ? 

 What is software ? 1 

25. CAS EÚ…‰ {… Æ˙¶…… π…i… EÚ“ V…B* 

 Define CAS. 1 

26. EÚ®{™…⁄]ıÆ˙ ±…‰J……ΔEÚx… EÚ“ +…¥…∂™…EÚi…… E‰Ú  ±…™…‰ EÚ…‰<« S……Æ˙  §…xn÷˘  ±… J…B* 

 Write any four points of need for computer accounting. 2 

27. ±…‰J……ΔEÚx… ∫……Ï}]ı¥…‰™…Æ˙ E‰Ú x……®…  ±… J…B* 

 Write the names of accounting softwares. 2 

28. ±…‰J……ΔEÚx… ∫…⁄S…x…… |…h……±…“ E‰Ú =q‰˘∂™……Â EÚ… ¥…h…«x… EÚ“ V…B* 

 Explain the purposes of Accounting Information System. 4  

29. ±…‰J……ΔEÚx… ®…Â <±…‰C]≈ı…Ï x…EÚ ∫|…‰b˜∂…“]ı EÚ“ ={…™……‰ M…i…… EÚ… ¥…h…«x… EÚ“ V…B* 

 Explain the utility of electronic spreadsheet in accounting. 4 

30. SQL ®…Â |…™……‰M…  EÚ™…‰ V……x…‰ ¥……±…‰  x…®x… ±… J…i… EÚ®……hb¬˜∫… EÚ… =q‰˘∂™… i…l……  ∫…x]‰ıC∫…  ±… J…B : 

 i) SELECT 

 ii) CREATE 

 iii) INSERT 

 iv) DELETE. 

 Write the purpose and syntax of the following commands used in    

SQL :  6 

 i) SELECT 

 ii) CREATE 

 iii) INSERT 

 iv) DELETE.  
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